



## INTUITIONISTIC FUZZY SOFT CUBIC RELATIONS

V. AMARENDRA BABU and V. SIVA NAGA MALLESWARI

Department of Mathematics  
Acharya Nagarjuna University  
Nagarjuna Nagar, A.P, India  
E-mail: amarendravelisela@ymail.com

Department of Freshman Engineering  
PVP Siddhartha Institute of Technology  
A. P, India  
E-mail: vsnm.maths@gmail.com

### Abstract

We propose the definition of intuitionistic fuzzy soft cubic relations and its properties are studied.

### 1. Introduction

In 1999, the conception of a soft set was proposed by Moldstov [2]. Zadeh [6] deals with the hypothesis of a fuzzy set in 1965. He ventilates the theory of an interval valued fuzzy sets [7]. K. Attansov [1, 3, 4] suggested the hypothesis of an intuitionistic fuzzy set and also introduces the theory of an interval valued intuitionistic fuzzy sets. The concept of fuzzy soft set was initiated by Maji et al. [8] and he enlarged the idea of soft sets to intuitionistic fuzzy system [9]. The notion of cubic set was initiated by Jun et al. [5].

### 2. Intuitionistic Fuzzy Soft Cubic Relations

**Definition 2.** Let  $U$  be an initial universal set and  $(P, E_1)$  and  $(Q, E_2)$  be two intuitionistic fuzzy soft cubic sets (IFSCS). Then the relation between  $(P, E_1)$  and  $(Q, E_2)$  is defined as  $(R, E_1 \times E_2)$  where  $R$  is a mapping given

---

2010 Mathematics Subject Classification: 03E72.

Keywords: intuitionistic fuzzy soft cubic sets (IFSCS), intuitionistic fuzzy soft sets (IFSS).

Received January 20, 2020; Accepted May 13, 2020.

by  $R : E_1 \times E_2 \rightarrow IFSCS(U)$ . This is called an intuitionistic fuzzy soft cubic set relation (IVIFSSR).

**Remark 2.2.** Let  $U$  be an initial universal set and  $(P_1, E_1), (P_2, E_2), \dots, (P_n, E_n)$  be the number of IFSCS over  $U$ . Then a relation  $\Upsilon$  between them is defined as a pair  $(R, E_1XE_2, \dots, XE_n)$ , where  $R$  is a mapping given by  $R : E_1XE_2, \dots, XE_2 \rightarrow IFSCS(U)$ .

**Example 3.2.** Let us consider an IFSCS  $(P, E_1)$ . Let the universal set  $U = \{s_1, s_2, s_3, s_4\}$  and the set of parameters  $E_1 = \{e_1, e_3\}$  then representation of IFSCS  $(P, E_1)$  is given below:

U	$e_1$	$e_3$
$s_1$	$([0.4,0.5],[0.3,0.5])[0.3,0.5]$	$([0.3,0.6],[0.3,0.4])[0.4,0.3]$
$s_2$	$([0.5,0.7],[0.2,0.3])[0.2,0.6]$	$([0.5,0.6],[0.1,0.4])[0.5,0.4]$
$s_3$	$([0.4,0.6],[0.1,0.3])[0.6,0.2]$	$([0.5,0.7],[0.2,0.3])[0.7,0.2]$
$s_4$	$([0.2,0.4],[0.5,0.6])[0.4,0.5]$	$([0.6,0.7],[0.2,0.3])[0.3,0.6]$

(ii) Let us consider an IFSCS  $(Q, E_2)$ . Let the universal set  $U = \{s_1, s_2, s_3, s_4\}$  and the set of parameters  $E_2 = \{e_2, e_4\}$ . Then the representation of IFSCS  $(Q, E_2)$  is given below:

U	$e_2$	$e_4$
$s_1$	$([0.5,0.8],[0.1,0.2])[0.4,0.6]$	$([0.5,0.6],[0.2,0.4])[0.3,0.5]$
$s_2$	$([0.3,0.6],[0.2,0.3])[0.6,0.2]$	$([0.2,0.6],[0.3,0.4])[0.1,0.6]$
$s_3$	$([0.4,0.7],[0.1,0.3])[0.3,0.6]$	$([0.4,0.6],[0.3,0.4])[0.8,0.1]$
$s_4$	$([0.4,0.5],[0.3,0.4])[0.5,0.4]$	$([0.3,0.7],[0.1,0.2])[0.4,0.4]$

Then the IFSCS relation  $\mathcal{R} = (R, E_1XE_2)$  is given below:

U	$(e_1, e_2)$	$(e_1, e_4)$	$(e_3, e_2)$	$(e_3, e_4)$
$s_1$	$([0.4,0.5],[0.3,0.5]) [0.3,0.6]$	$([0.4,0.5],[0.3,0.5]) [0.3,0.5]$	$([0.3,0.6],[0.3,0.4]) [0.4,0.6]$	$([0.3,0.6],[0.3,0.4]) [0.3,0.5]$
$s_2$	$([0.3,0.6],[0.2,0.3]) [0.2,0.6]$	$([0.2,0.6],[0.3,0.4]) [0.1,0.6]$	$([0.3,0.6],[0.2,0.4]) [0.5,0.4]$	$([0.2,0.6],[0.3,0.4]) [0.1,0.6]$
$s_3$	$([0.4,0.6],[0.1,0.3]) [0.3,0.6]$	$([0.4,0.6],[0.3,0.4]) [0.6,0.2]$	$([0.4,0.7],[0.2,0.3]) [0.3,0.6]$	$([0.4,0.6],[0.3,0.4]) [0.7,0.2]$
$s_4$	$([0.2,0.4],[0.5,0.6]) [0.4,0.5]$	$([0.2,0.4],[0.5,0.6]) [0.4,0.5]$	$([0.4,0.5],[0.3,0.4]) [0.3,0.6]$	$([0.3,0.7],[0.2,0.3]) [0.3,0.6]$

**Definition 2.4.** The order of the relational matrix is  $(\rho, \sigma)$  where  $\rho =$  number of points in universal set and  $\sigma =$  number of parameters. In the above example, the relational matrix  $\mathcal{R}$  is of order  $(4, 4)$ . If  $\rho = \sigma$ , then the relational matrix is called square matrix.

**Definition 2.5.** Let  $\mathcal{R}, \mathcal{S} \in \gamma_U(E_1XE_2), \mathcal{R} = (R, E_1XE_2), \mathcal{S} = (S, E_1XE_2)$ , and the order of relational matrices are same. Then we define

(i)  $\mathcal{R} \cup \mathcal{S} = (R \blacksquare S, E_1XE_2)$ , where  $R \blacksquare S : E_1XE_2 \rightarrow IVIFCS(U)$  and is defined as  $(R \blacksquare S)(e_i, e_j) \vee S(e_i, e_j)$  for  $(e_i, e_j) \in E_1XE_2$ , where  $\vee$  denotes the intuitionistic fuzzy soft cubic union.

(ii)  $\mathcal{R} \cap \mathcal{S} = (R \diamond S, E_1XE_2)$  where  $R \diamond S : E_1XE_2 \rightarrow IVIFSCS(U)$  and is defined as  $(\mathcal{R} \cap \mathcal{S})(e_i, e_j) \wedge S(e_i, e_j)$  for  $(e_i, e_j) \in E_1XE_2$ , where  $\wedge$  denotes the intuitionistic fuzzy soft cubic intersection.

(iii)  $\mathcal{R}^c = (\sim R, E_1XE_2)$  where  $R : E_1XE_2 \rightarrow IVFSS(U)$  and is defined as  $(\sim R)(e_i, e_j)R(e_i, e_j)^c$  for  $(e_i, e_j) \in E_1XE_2$ , where  $c$  denotes the intuitionistic fuzzy soft cubic complement.

**Example 2.6.** Consider the IFSCS relations  $\mathcal{R} = (R, E_1XE_2)$  and  $\mathcal{S} = (S, E_1XE_2)$  as given below  $\mathcal{R} = (R, E_1XE_2)$ .

$U$	$(e_1, e_2)$	$(e_1, e_4)$	$(e_3, e_2)$	$(e_3, e_4)$
$s_1$	$([0.4,0.5],[0.3,0.5]) [0.3,0.6]$	$([0.4,0.5],[0.3,0.5]) [0.3,0.5]$	$([0.3,0.5],[0.3,0.4]) [0.4,0.6]$	$([0.3,0.4],[0.3,0.5]) [0.3,0.5]$
$s_2$	$([0.3,0.4],[0.4,0.5]) [0.2,0.6]$	$([0.2,0.6],[0.3,0.4]) [0.1,0.6]$	$([0.3,0.6],[0.2,0.4]) [0.5,0.4]$	$([0.2,0.6],[0.3,0.4]) [0.1,0.6]$
$s_3$	$([0.4,0.6],[0.1,0.4]) [0.3,0.6]$	$([0.4,0.6],[0.3,0.4]) [0.6,0.2]$	$([0.4,0.7],[0.2,0.3]) [0.3,0.6]$	$([0.4,0.5],[0.3,0.5]) [0.7,0.2]$
$s_4$	$([0.2,0.3],[0.5,0.6]) [0.4,0.5]$	$([0.2,0.4],[0.5,0.6]) [0.4,0.5]$	$([0.6,0.7],[0.1,0.2]) [0.3,0.6]$	$([0.3,0.7],[0.2,0.3]) [0.3,0.6]$

$$\mathcal{S} = (S, E_1XE_2)$$

$U$	$(e_1, e_2)$	$(e_1, e_4)$	$(e_3, e_2)$	$(e_3, e_4)$
$s_1$	$([0.4,0.7],[0.2,0.3]) [0.2,0.7]$	$([0.3,0.4],[0.5,0.6]) [0.7,0.5]$	$([0.2,0.4],[0.3,0.6]) [0.4,0.2]$	$([0.3,0.5],[0.0,3]) [0.3,0.2]$
$s_2$	$([0.5,0.6],[0,04]) [0.3,0.4]$	$([0.5,0.6],[0.3,0.4]) [0.6,0.4]$	$([0.4,0.6],[0.2,0.4]) [0,0.5]$	$([0.5,0.6],[0.2,0.3]) [0.3,0.5]$
$s_3$	$([0.3,0.4],[0.2,0.4]) [0.6,0.4]$	$([0.4,0.6],[0,0.3]) [0.5,0.2]$	$([0.8,0.9],[0,0.1]) [0.7,0.3]$	$([0.4,0.6],[0,0.2]) [0.5,0.2]$
$s_4$	$([0.4,0.8],[0,0.2]) [0.5,0.4]$	$([0.4,0.6],[0.3,0.4]) [0.6,0.3]$	$([0.4,0.6],[0.2,0.4]) [0.5,0.4]$	$([0.4,0.6],[0.2,0.3]) [0.8,0.1]$

Then  $\mathcal{R} \cup \mathcal{S}$  :

U	$(e_1, e_2)$	$(e_1, e_4)$	$(e_3, e_2)$	$(e_3, e_4)$
$s_1$	$([0.4,0.7],[0.2,0.3])$ $0.3,0.6$	$([0.4,0.5],[0.3,0.5])$ $[0.7,0.5]$	$([0.3,0.5],[0.3,0.4])$ $[0.4,0.2]$	$([0.3,0.5],[0,0.3])$ $[0.3,0.2]$
$s_2$	$([0.5,0.6],[0,0.4])$ $[0.3,0.6]$	$([0.5,0.6],[0.3,0.4])$ $[0.6,0.4]$	$([0.4,0.6],[0.2,0.4])$ $[0.5,0.4]$	$([0.5,0.6],[0.2,0.3])$ $[0.3,0.5]$
$s_3$	$([0.4,0.6],[0.1,0.4])$ $0.6,0.4$	$([0.4,0.6],[0,0.3])$ $[0.6,0.2]$	$([0.8,0.9],[0,0.1])$ $[0.7,0.3]$	$([0.4,0.6],[0,0.2])$ $[0.7,0.2]$
$s_4$	$([0.4,0.8],[0,0.2])$ $[0.5,0.4]$	$([0.4,0.6],[0.3,0.4])$ $[0.6,0.3]$	$([0.6,0.7],[0.1,0.2])$ $[0.5,0.4]$	$([0.4,0.7],[0.2,0.3])$ $[0.8,0.1]$

$\mathcal{R} \cap \mathcal{S}$  :

U	$(e_1, e_2)$	$(e_1, e_4)$	$(e_3, e_2)$	$(e_3, e_4)$
$s_1$	$([0.4,0.5],[0.3,0.5])$ $[0.2,0.7]$	$([0.3,0.4],[0.5,0.6])$ $[0.3,0.5]$	$([0.2,0.4],[0.3,0.6])$ $[0.4,0.6]$	$([0.3,0.4],[0.3,0.5])$ $[0.3,0.5]$
$s_2$	$([0.3,0.4],[0.4,0.5])$ $[0.2,0.6]$	$([0.2,0.6],[0.3,0.4])$ $[0.1,0.6]$	$([0.3,0.6],[0.2,0.4])$ $[0,0.5]$	$([0.2,0.6],[0.3,0.4])$ $[0.1,0.6]$
$s_3$	$([0.3,0.4],[0.2,0.4])$ $[0.3,0.6]$	$([0.4,0.6],[0.3,0.4])$ $[0.5,0.2]$	$([0.4,0.7],[0.2,0.3])$ $[0.3,0.6]$	$([0.4,0.5],[0.3,0.5])$ $[0.3,0.5]$
$s_4$	$([0.2,0.3],[0.5,0.6])$ $[0.4,0.5]$	$([0.2,0.4],[0.5,0.6])$ $[0.4,0.5]$	$([0.4,0.6],[0.2,0.4])$ $[0.3,0.6]$	$([0.3,0.6],[0.2,0.3])$ $[0.3,0.6]$

$\mathcal{R}^c$  :

U	$(e_1, e_2)$	$(e_1, e_4)$	$(e_3, e_2)$	$(e_3, e_4)$
$s_1$	$([0.3,0.5],[0.4,0.5])$ $[0.6,0.3]$	$([0.3,0.5],[0.4,0.5])$ $[0.5,0.3]$	$([0.3,0.4],[0.3,0.5])$ $[0.6,0.4]$	$([0.3,0.5],[0.3,0.4])$ $[0.5,0.3]$
$s_2$	$([0.4,0.5],[0.3,0.4])$ $[0.6,0.2]$	$([0.3,0.4],[0.2,0.6])$ $[0.6,0.1]$	$([0.2,0.4],[0.3,0.6])$ $[0.4,0.5]$	$([0.3,0.4],[0.2,0.6])$ $[0.6,0.1]$
$s_3$	$([0.1,0.4],[0.4,0.6])$ $[0.6,0.3]$	$([0.3,0.4],[0.4,0.6])$ $[0.2,0.6]$	$([0.2,0.3],[0.4,0.7])$ $[0.6,0.3]$	$([0.3,0.5],[0.4,0.5])$ $[0.2,0.7]$
$s_4$	$([0.5,0.6],[0.2,0.3])$ $[0.5,0.4]$	$([0.5,0.6],[0.2,0.4])$ $[0.5,0.4]$	$([0.1,0.2],[0.6,0.7])$ $[0.6,0.3]$	$([0.2,0.3],[0.3,0.7])$ $[0.6,0.3]$

**Theorem 2.7.** Let  $\mathcal{R}, \mathcal{S}, \mathcal{T} \in \gamma_U(E_1XE_2)$  and the order of the relational matrices are same. Then the following statements hold:

- (i)  $(\mathcal{R} \cup \mathcal{S})^c = \mathcal{R}^c \cap \mathcal{S}^c$
- (ii)  $(\mathcal{R} \cap \mathcal{S})^c = \mathcal{R}^c \cup \mathcal{S}^c$
- (iii)  $\mathcal{R} \cup (\mathcal{S} \cap \mathcal{T}) = (\mathcal{R} \cup \mathcal{S}) \cap \mathcal{T}$
- (iv)  $\mathcal{R} \cap (\mathcal{S} \cup \mathcal{T}) = (\mathcal{R} \cap \mathcal{S}) \cup \mathcal{T}$
- (v)  $\mathcal{R} \cap (\mathcal{S} \cup \mathcal{T}) = (\mathcal{R} \cap \mathcal{S}) \cup (\mathcal{R} \cap \mathcal{T})$
- (vi)  $\mathcal{R} \cup (\mathcal{S} \cap \mathcal{T}) = (\mathcal{R} \cup \mathcal{S}) \cap (\mathcal{R} \cup \mathcal{T})$

**Proof.** (i) Let  $\mathcal{R} = (R, E_1XE_2)$ ,  $\mathcal{S} = (S, E_1XE_2)$  then  $\mathcal{R} \cup \mathcal{S} = (R \blacksquare S, E_1XE_2)$  where  $R \blacksquare S : E_1XE_2 \rightarrow IFSCS(U)$  and is defined as  $(R \blacksquare S)(e_i, e_j) = R(e_i, e_j) \vee S(e_i, e_j)$  for  $(e_i, e_j) \in E_1XE_2$ .

$$\begin{aligned} \text{Then } (\mathcal{R} \cup \mathcal{S})^c &= [R(e_i, e_j) \vee S(e_i, e_j)]^c = [\{\{r_k, (T_{R(e_i, e_j)}(r_k)), (F_{R(e_i, e_j)}(r_k)), \\ &[\mu_{R(e_i, e_j)}(r_k), \vartheta_{R(e_i, e_j)}(r_k)]\} \vee \{r_k, (T_{S(e_i, e_j)}(r_k), F_{S(e_i, e_j)}(r_k)), [\mu_{S(e_i, e_j)}(r_k), \\ &\vartheta_{S(e_i, e_j)}(r_k)]\} : r_k \in U\}^c = \{r_k, \\ &\max(\inf(T_{R(e_i, e_j)}(r_k), \inf(T_{R(e_i, e_j)}(r_k)), \max(\sup(T_{R(e_i, e_j)}(r_k), \\ &\sup(T_{S(e_i, e_j)}(r_k))), [\min(\inf(F_{R(e_i, e_j)}(r_k), \inf(F_{S(e_i, e_j)}(r_k)), \\ &\min(\sup(F_{R(e_i, e_j)}(r_k), \sup(F_{S(e_i, e_j)}(r_k))), [\max(\mu_{R(e_i, e_j)}(r_k), \\ &\mu_{S(e_i, e_j)}(r_k), \min(\vartheta_{R(e_i, e_j)}(r_k), \vartheta_{R(e_i, e_j)}(r_k))] : r_k \in U\}^c \\ &= \{r_k, [\min(\inf(F_{R(e_i, e_j)}(r_k), \inf(F_{S(e_i, e_j)}(r_k)), \min(\sup((r_k), \\ &\sup(F_{S(e_i, e_j)}(r_k))), [\max(\inf(T_{R(e_i, e_j)}(r_k), \inf(T_{S(e_i, e_j)}(r_k)), \\ &\max(\sup(T_{R(e_i, e_j)}(r_k), \sup(T_{S(e_i, e_j)}(r_k))), [\min(\vartheta_{R(e_i, e_j)}(r_k), \\ &\vartheta_{R(e_i, e_j)}(r_k)), \max(\mu_{R(e_i, e_j)}(r_k), \mu_{S(e_i, e_j)}(r_k))] : r_k \in U\}. \end{aligned}$$

Now,  $\mathcal{R}^c \cap \mathcal{S}^c = (\sim, R, E_1XE_2) \cap (\sim S, E_1XE_2)$  where  $\sim R, \sim S : E_1XE_2 \rightarrow IVIFSCS(U)$  are defined as  $\sim R(e_i, e_j) = (R(e_i, e_j))^c$  and  $\sim S(e_i, e_j)$

$$= (S(e_i, e_j))^c \text{ for } (e_i, e_j) \in E_1XE_2, \text{ we have } (\sim R, E_1XE_2) \cap (\sim S, E_1XE_2) \\ = (\sim R \diamond \sim S, E_1XE_2)(e_i, e_j).$$

Now for  $(e_i, e_j) \in E_1XE_2, (\sim R \diamond \sim S)(e_i, e_j) = \sim R(e_i, e_j) \wedge \sim S(e_i, e_j) = \{ \langle r_k, [F_{R(e_i, e_j)}(r_k), T_{R(e_i, e_j)}(r_k)], [\vartheta_{R(e_i, e_j)}(r_k), \mu_{R(e_i, e_j)}(r_k)] \} \wedge \{ \langle r_k, [F_{S(e_i, e_j)}(r_k), T_{S(e_i, e_j)}(r_k)], [\vartheta_{S(e_i, e_j)}(r_k), \mu_{S(e_i, e_j)}(r_k)] \} : r_k \in U \} = \{ \langle r_k, [\min(\inf(F_{R(e_i, e_j)}(r_k), \inf(F_{S(e_i, e_j)}(r_k))), \min(\sup(F_{R(e_i, e_j)}(r_k), \sup(F_{S(e_i, e_j)}(r_k))), \max(\inf(T_{R(e_i, e_j)}(r_k), \inf(T_{S(e_i, e_j)}(r_k))), \max(\sup(T_{R(e_i, e_j)}(r_k), \sup(T_{S(e_i, e_j)}(r_k))), [\min(\vartheta_{R(e_i, e_j)}(r_k), \vartheta_{S(e_i, e_j)}(r_k)), \max(\mu_{R(e_i, e_j)}(r_k), \mu_{S(e_i, e_j)}(r_k))] \} : r_k \in U \}.$

$$\text{Then } (\mathcal{R} \cup \mathcal{S})^c = \mathcal{R}^c \cap \mathcal{S}^c$$

(ii) Let  $\mathcal{R} = (R, E_1XE_2), \mathcal{S} = (S, E_1XE_2)$  then  $\mathcal{R} \cap \mathcal{S} = (R \diamond S, E_1XE_2)$  where  $R \diamond S : E_1XE_2 \rightarrow IFSCS(U)$  and is defined as  $(R \diamond S)(e_i, e_j) = R(e_i, e_j) \wedge S(e_i, e_j)$  for  $(e_i, e_j) \in E_1XE_2$ .

$$\text{Then } (\mathcal{R} \cap \mathcal{S})^c = [R(e_i, e_j) \wedge S(e_i, e_j)]^c \\ = [\{ \langle r_k, T_{R(e_i, e_j)}(r_k), F_{R(e_i, e_j)}(r_k), [\mu_{R(e_i, e_j)}(r_k), \vartheta_{R(e_i, e_j)}(r_k)] \} \wedge \{ \langle r_k, T_{S(e_i, e_j)}(r_k), F_{S(e_i, e_j)}(r_k), [\mu_{S(e_i, e_j)}(r_k), \vartheta_{S(e_i, e_j)}(r_k)] \} : r_k \in U \}]^c = \{ \langle r_k, [\min(\inf(T_{R(e_i, e_j)}(r_k), \inf(T_{S(e_i, e_j)}(r_k))), \min(\sup(T_{R(e_i, e_j)}(r_k), \sup(T_{S(e_i, e_j)}(r_k))), [\max(\inf(F_{R(e_i, e_j)}(r_k), \inf(F_{S(e_i, e_j)}(r_k))), \max(\sup(F_{R(e_i, e_j)}(r_k), \sup(F_{S(e_i, e_j)}(r_k))), [\min(\mu_{R(e_i, e_j)}(r_k), \mu_{S(e_i, e_j)}(r_k)), \max(\vartheta_{R(e_i, e_j)}(r_k), \vartheta_{S(e_i, e_j)}(r_k))] \} : r_k \in U \}^c = \{ \langle r_k, \max(\inf(F_{R(e_i, e_j)}(r_k), \inf(F_{S(e_i, e_j)}(r_k))), \max(\sup(F_{R(e_i, e_j)}(r_k), \sup(F_{S(e_i, e_j)}(r_k))), \min(\inf(T_{R(e_i, e_j)}(r_k), \inf(T_{S(e_i, e_j)}(r_k))), \min(\sup(T_{R(e_i, e_j)}(r_k), \sup(T_{S(e_i, e_j)}(r_k))), \max(\mu_{R(e_i, e_j)}(r_k), \mu_{S(e_i, e_j)}(r_k)), \min(\vartheta_{R(e_i, e_j)}(r_k), \vartheta_{S(e_i, e_j)}(r_k))] \} : r_k \in U \}.$$

Now,  $\mathcal{R}^c \cup \mathcal{S}^c = (\sim R, E_1XE_2) \cup (\sim S, E_1XE_2)$  where  $\sim R, \sim S : E_1XE_2 \rightarrow IVIFCS(U)$  are defined as  $\sim R(e_i, e_j) = (R(e_i, e_j))^c$  and  $\sim S(e_i, e_j)$

$$= (S(e_i, e_j))^c \text{ for } (e_i, e_j) \in E_1XE_2, \text{ we have } (\sim R, E_1XE_2) \cup (\sim S, E_1XE_2) \\ = (\sim R \blacksquare \sim S, E_1XE_2)(e_i, e_j)$$

Now for  $(e_i, e_j) \in E_1XE_2$ ,  $(\sim R \blacksquare \sim S)(e_i, e_j) = \sim R(e_i, e_j) \cup \sim S(e_i, e_j) =$   
 $[\{\langle r_k, F_{R(e_i, e_j)}(r_k), T_{R(e_i, e_j)}(r_k), [\vartheta_{R(e_i, e_j)}(r_k), \mu_{R(e_i, e_j)}(r_k)] \rangle\} \vee \{\langle r_k, F_{S(e_i, e_j)}(r_k),$   
 $T_{S(e_i, e_j)}(r_k), [\vartheta_{S(e_i, e_j)}(r_k), \mu_{S(e_i, e_j)}(r_k)] \rangle\} : r_k \in U = \{\langle r_k, [\max(\inf(F_{R(e_i, e_j)}(r_k),$   
 $\inf(F_{S(e_i, e_j)}(r_k)), \max(\sup(F_{R(e_i, e_j)}(r_k), \sup(F_{S(e_i, e_j)}(r_k))), [\min(\inf(T_{R(e_i, e_j)}$   
 $(r_k), \inf(T_{S(e_i, e_j)}(r_k)), \min(\sup(T_{R(e_i, e_j)}(r_k), \sup(T_{S(e_i, e_j)}(r_k))),$   
 $\max(\mu_{R(e_i, e_j)}(r_k), \mu_{S(e_i, e_j)}(r_k), \min(\vartheta_{R(e_i, e_j)}(r_k), \vartheta_{S(e_i, e_j)}(r_k))] \rangle, r_k \in U\}.$

Then  $(\mathcal{R} \cup \mathcal{S})^c = \mathcal{R}^c \cap \mathcal{S}^c.$

(iii) Let  $\mathcal{R} = (R, E_1XE_2)$ ,  $\mathcal{S} = (S, E_1XE_2)$ ,  $\mathcal{T} = (T, E_1XE_2)$  then  $\mathcal{R} \cup \mathcal{S} = (R \blacksquare S, E_1XE_2)$ , where  $R \blacksquare S : E_1XE_2 \rightarrow IVIFCS(U)$  and is defined as  $(R \blacksquare S)(e_i, e_j) = R(e_i, e_j) \vee S(e_i, e_j)$  for  $(e_i, e_j) \in E_1XE_2.$

Then  $(\mathcal{R} \cup \mathcal{S}) \cup \mathcal{T} = ((R \blacksquare S) \blacksquare T, E_1XE_2)$  where  $(R \blacksquare S) \blacksquare T : E_1XE_2 \rightarrow IVIFCS(U)$  and is defined as  $(R \blacksquare S) \blacksquare T(e_i, e_j) = R(e_i, e_j) \vee S(e_i, e_j) \vee T(e_i, e_j)$  for  $(e_i, e_j) \in E_1XE_2.$

Now  $(R(e_i, e_j) \vee S(e_i, e_j)) \vee T(e_i, e_j) = R(e_i, e_j) \vee (S(e_i, e_j) \vee T(e_i, e_j)).$

Therefore  $((R \blacksquare S) \blacksquare T)(e_i, e_j) = (R \blacksquare (S \blacksquare T))(e_i, e_j).$

Also  $(\mathcal{R} \cup \mathcal{S}) \cup \mathcal{T} = \mathcal{R} \cup (\mathcal{S} \cup \mathcal{T}) = (\mathcal{R} \blacksquare (\mathcal{S} \blacksquare \mathcal{T})), E_1XE_2).$

Therefore  $(\mathcal{R} \cup \mathcal{S}) \cup \mathcal{T} = \mathcal{R} \cup (\mathcal{S} \cup \mathcal{T}).$

(iv) Let  $\mathcal{R} = (R, E_1XE_2)$ ,  $\mathcal{S} = (S, E_1XE_2)$ ,  $\mathcal{T} = (T, E_1XE_2)$  then  $\mathcal{R} \cap \mathcal{S} = (R \diamond S, E_1XE_2)$  where  $R \diamond S : E_1XE_2 \rightarrow IFCS(U)$  and is defined as  $(R \diamond S)(e_i, e_j) = R(e_i, e_j) \wedge S(e_i, e_j)$  for  $(e_i, e_j) \in E_1XE_2.$

Then  $(\mathcal{R} \cap \mathcal{S}) \cap \mathcal{T} = ((R \diamond S) \diamond T, E_1XE_2)$  where  $(R \diamond S) \diamond T : E_1XE_2 \rightarrow IVIFCS(U)$  and is defined as  $(R \diamond S) \diamond T(e_i, e_j) = R(e_i, e_j)$

$\vee S(e_i, e_j) \wedge T(e_i, e_j)$  for  $(e_i, e_j) \in E_1XE_2$ .

Now  $(R(e_i, e_j) \wedge S(e_i, e_j) \wedge T(e_i, e_j)) = R(e_i, e_j)(S(e_i, e_j) \wedge T(e_i, e_j))$ .

Therefore  $((R \diamond S) \diamond T)(e_i, e_j) = (R \diamond (S \diamond T))(e_i, e_j)$ .

Also  $(\mathcal{R} \cap \mathcal{S}) \cap \mathcal{T} = \mathcal{R} \cap (\mathcal{S} \cap \mathcal{T}) = (R \diamond (S \diamond T)), E_1XE_2$ .

Therefore  $(\mathcal{R} \cap \mathcal{S}) \cap \mathcal{T} = \mathcal{R} \cap (\mathcal{S} \cap \mathcal{T})$ .

(v) Let  $\mathcal{R} = (R, E_1XE_2)$ ,  $\mathcal{S} = (S, E_1XE_2)$ ,  $\mathcal{T} = (T, E_1XE_2)$  then  $\mathcal{S} \cup \mathcal{T} = (S \blacksquare T, E_1XE_2)$  where  $S \blacksquare T : E_1XE_2 \rightarrow IVIFSCS(U)$  and is defined as  $(S \blacksquare T)(e_i, e_j) = S(e_i, e_j) \vee T(e_i, e_j)$  for  $(e_i, e_j) \in E_1XE_2$ .

Then  $\mathcal{R} \cap (\mathcal{S} \cup \mathcal{T}) = (R \diamond (S \blacksquare T), E_1XE_2)$  where  $(R \diamond (S \blacksquare T)) : E_1XE_2 \rightarrow IFSCS(U)$  and is defined as  $R \diamond (S \blacksquare T)(e_i, e_j) = R(e_i, e_j) \wedge (S(e_i, e_j) \vee T(e_i, e_j))$  for  $(e_i, e_j) \in E_1XE_2$ .

Now  $(R(e_i, e_j) \wedge S(e_i, e_j)) \vee T(e_i, e_j) = (R(e_i, e_j) \wedge S(e_i, e_j)) \vee R(e_i, e_j) \wedge T(e_i, e_j)$ .

We have  $R \diamond (S \blacksquare T)(e_i, e_j) = (R(e_i, e_j) \wedge S(e_i, e_j)) \vee (R(e_i, e_j) \wedge T(e_i, e_j))$ .

Also  $(\mathcal{R} \cap \mathcal{S}) \cup (\mathcal{R} \cap \mathcal{T}) = (R \diamond S, E_1XE_2) \cup (R \diamond T, E_1XE_2) = ((R \diamond S) \blacksquare (R \diamond T), E_1XE_2)$ .

Now for  $(e_i, e_j) \in E_1XE_2$ ,  $((R \diamond S) \blacksquare (R \diamond T))(e_i, e_j) = ((R \diamond S)(e_i, e_j) \vee (R \diamond T)(e_i, e_j)) = (R(e_i, e_j) \wedge S(e_i, e_j)) \vee (R(e_i, e_j) \wedge T(e_i, e_j)) = R \diamond (S \blacksquare T)(e_i, e_j)$ .

Then  $\mathcal{R} \cap (\mathcal{S} \cup \mathcal{T}) = (\mathcal{R} \cap \mathcal{S}) \cup (\mathcal{R} \cap \mathcal{T})$ .

(vi) Let  $\mathcal{R} = (R, E_1XE_2)$ ,  $\mathcal{S} = (S, E_1XE_2)$ ,  $\mathcal{T} = (T, E_1XE_2)$  then  $\mathcal{S} \cap \mathcal{T} = (S \diamond T, E_1XE_2)$  where  $S \diamond T : E_1XE_2 \rightarrow IVIFSCS(U)$  and is defined as  $(S \diamond T)(e_i, e_j) = S(e_i, e_j) \wedge T(e_i, e_j)$  for  $(e_i, e_j) \in E_1XE_2$ .

Then  $\mathcal{R} \cup (\mathcal{S} \cap \mathcal{T}) = (R \blacksquare (S \diamond T), E_1XE_2)$  where  $(R \blacksquare (S \diamond T)) : E_1XE_2 \rightarrow IVIFSCS(U)$  and is defined as  $R \blacksquare (S \diamond T)(s_i, s_j) = R(s_i, s_j) \vee S(s_i, s_j) \wedge T(s_i, s_j)$



for  $(s_i, s_j) \in E_1XE_2$ .

Now  $(R(s_i, s_j) \vee (S(s_i, s_j) \wedge (T(s_i, s_j))) = (R(s_i, s_j) \vee S(s_i, s_j)) \wedge (R(s_i, s_j) \vee T(s_i, s_j))$

We have  $R \blacksquare (S \diamond T)(s_i, s_j) = (R(s_i, s_j) \vee S(s_i, s_j)) \wedge (R(s_i, s_j) \vee T(s_i, s_j))$ .

Also  $(\mathcal{R} \cup \mathcal{S}) \cap (\mathcal{R} \cup \mathcal{T}) = (R \blacksquare S, E_1XE_2) \cap (R \blacksquare T, E_1XE_2) = ((R \blacksquare S) \diamond (R \blacksquare T), E_1XE_2)$ .

Now for  $(e_i, e_j) \in E_1XE_2$ ,  $((R \blacksquare S) \diamond (R \blacksquare T))(e_i, e_j) = ((R \blacksquare S)(e_i, e_j) \wedge (R \blacksquare T)(e_i, e_j)) = (R(e_i, e_j) \vee S(e_i, e_j)) \wedge (R(e_i, e_j) \vee T(e_i, e_j)) = R \blacksquare (S \diamond T)(e_i, e_j)$ .

Then  $\mathcal{R} \cup (\mathcal{S} \cap \mathcal{T}) = (\mathcal{R} \cup \mathcal{S}) \cap (\mathcal{R} \cup \mathcal{T})$ .

### 3. Some More Concepts

**Definition 3.1.** Let  $\mathcal{R}, \mathcal{S} \in \gamma_U(E_1XE_2)$  and their relational matrices are of same order. Then  $\mathcal{R} \subseteq \mathcal{S}$  if  $R(s_i, s_j) \subseteq S(s_i, s_j)$  for  $(s_i, s_j) \in (E_1XE_2)$  where  $\mathcal{R} = (R, E_1XE_2)$ ,  $\mathcal{S} = (S, E_1XE_2)$ .

**Definition 3.2.** Let  $(R, E_1)$  and  $(S, E_2)$  be two intuitionistic fuzzy soft cubic sets. Then a null relation between  $(R, E_1)$  and  $(S, E_2)$  is denoted as  $\phi_U$  and is defined as  $\phi_U = (T_0, E_1XE_2)$  where  $T_0(e_i, e_j) = \{\{t_k, [0, 0], [1, 1], [0, 1]\} / t_k \in U\}$  for  $(e_i, e_j) \in (E_1XE_2)$ . Here  $U$  denotes the initial universe set.

**Definition 3.3.** Let  $(R, E_1)$  and  $(S, E_2)$  be two intuitionistic fuzzy soft cubic sets. Then an absolute relation between  $(R, E_1)$  and  $(S, E_2)$  is denoted as  $\rho_U$  and is defined as  $\rho_U = (T_1, E_1XE_2)$  where  $T_1(s_i, s_j) = \{\{t_k, [1, 1], [0, 0](0, 1)\} / t_k \in U\}$  for  $(s_i, s_j) \in (E_1XE_2)$ . Here  $U$  denotes the initial universe set.

### References

[1] K. A. Atansov and G. Gargov, Interval valued intuitionistic fuzzy sets, *Fuzzy Sets and Systems* 31 (1989), 343-349.  
 [2] D. Molodtsov, Soft set theory-first results, *Computers and Mathematics with Applications* 37 (1999), 19-31.

- [3] K. Atanassov, Intuitionistic fuzzy sets, in: V. Sgurev, Ed., and VII ITKR's Session, Sofia, June 1983 (Central Sci. and Techn. Library, Bulg. Academy of Sciences, 1984).
- [4] Y. B. Jun, C. S. Kim and K. O. Yang, Cubic sets, *Annals of Fuzzy Mathematics and Information* 4(1) (2012), 83-98.
- [5] L. A. Zadeh, Fuzzy sets, *Inform. Control* 8 (1965), 338-353.
- [6] L. Zadeh, The concept of a linguistic variable and its application to approximate reasoning-I, *Inform. Sci.* 8 (1975), 199-249.
- [7] P. K. Maji, R. Biswas and A. R. Roy, Fuzzy soft sets, *J. Fuzzy Math.* 9(3) (2001), 589-602.
- [8] P. K. Maji, R. Biswas and A. R. Roy, Intuitionistic Fuzzy soft sets, *J. Fuzzy Math.* 9(3) (2001), 677-692.